

12/05/2024 09:00 AM | Drive and Install 12/06/2024 09:00 AM | DAY 2 OF INSTALL 12/07/2024 09:00 AM | TOUCH UP AND EVENT 12/08/2024 09:00 AM | STRIKE AND DRIVE BACK TO LA PO: Shipping Address: 1200 Tam O Shanter Bakersfield, Ca 93309 Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Drapping For a 6'x60' x 12'H Ten	t .				
Custom Made 10'x 14'H	White Velvet Drape to Create Pullbacks	16	\$450.00	Т	\$7,200.00
White Dupioni	Valance for 150' x 12"H	1	\$900.00	Т	\$900.00
	Total Dr	Drapping For a 6'x60' x 12'H Tent			\$8,100.00
Draping for Main Tent area 40'x4	.5' - 15x 25'				
White Velvet D 80'x 13'H	rape To Cover Behind the Bar	1	\$3,600.00	Т	\$3,600.00
White Velvet D Tent area 10'X 14'H	rape to Create Pullbacks Around Main	20	\$450.00	Т	\$9,000.00
White Dupioni 400' x 10"H	Valance to Go Around Tents	1	\$2,400.00	Т	\$2,400.00
Custom Made	Velvet Ceiling for a 40x45	1	\$13,440.00	Т	\$13,440.00
Custom Made	Velvet Ceiling for a 15'x25'	1	\$3,000.00	Т	\$3,000.00
Custom Made	Velvet Ceiling for a 10'x30'	1	\$2,400.00	Т	\$2,400.00
	Total Draping for N	Main Tent a	rea 40'x45' - 15x	25'	\$33,840.00
Drapping for Existing Pergola an	d New tent St				
White velvet D House 100'x 2 x 13'H	rape to cover Glass wall Looking into the	1	\$8,100.00	T	\$8,100.00
White Velvet D Pergola 40'x 13'H	rape to Cover Left and right on Existing	1	\$1,944.00	Т	\$1,944.00
White Velvet D 50' x 13'H	rape to Cover L Shape Side of Stage	1	\$2,160.00	Т	\$2,160.00
White velvet D 10x 14'H	rape to Cover Entrance on Tent	6	\$450.00	Т	\$2,700.00
WHITE DUPIO 400'X 10'H	NI VALANCE	1	\$2,400.00	Т	\$2,400.00

Description		Qtty	Price		Total
	Total Drapping for Existing Pergola and New tent St				\$17,304.00
General					
	Oversize Props - Christmas - Nutcracker 17.5"W x 15.5"D x 6'H	2	\$360.00	Т	\$720.00
	Holidays - Christmas - Over Size Angels 4' x 26" x 6'H	2	\$360.00	T	\$720.00
	Holidays - Christmas - Reindeer With Stand In silver 5'W x 7'H With Base	2	\$126.00	Т	\$252.00
			Total Gene	eral	\$1,692.00
Main Tents					
	Misc - Christmas Ball Ornament	4	\$180.00	Т	\$720.00
siell tane	Holidays - Christmas - Shiny Gold Drop 41"	5	\$48.00	Т	\$240.00
<u> </u>	Holidays - Christmas - Oversize Gold Spike Drop 45"	1	\$60.00	Т	\$60.00
	Holidays - Christmas - Antique Gold & Glitter Drop 16.5"	5	\$24.00	T	\$120.00
*	Holidays - Christmas - Antique Gold & Glitter Drop 01	5	\$24.00	Т	\$120.00
	Holidays - Christmas - Antique Gold & Glitter Drop 02	5	\$24.00	Т	\$120.00
	Holidays - Christmas - Antique Gold & Glitter Drop 03	5	\$24.00	T	\$120.00
	Holidays - Christmas - Antique Gold & Glitter Drop 04	4	\$24.00	T	\$96.00

Description		Qtty	Price		Total
	Holidays - Christmas - Antique Gold & Glitter Drop 05 27"	5	\$24.00	Т	\$120.00
	Holidays - Christmas - Antique Gold & Glitter Drop 06 2.4"	5	\$24.00	Т	\$120.00
	Holidays - Christmas - Antique Gold Drop 14"	5	\$24.00	Т	\$120.00
	Holidays - Christmas - Antique Gold Spike Drop 01 ²⁶ "	5	\$24.00	Т	\$120.00
Ola	Holidays - Christmas - Oversize Gold Drop 62"	5	\$48.00	Т	\$240.00
	Holidays - Christmas - Oversize Shiny Gold Drop 54"	5	\$60.00	Т	\$300.00
	Holidays - Christmas - Shiny Gold Drop 01 28"	5	\$42.00	Т	\$210.00
	Mix and Match Pillows in Burgundy- Gold -Off White	20	\$30.00	T	\$600.00
	Club & Lounge Chairs - Aspen - Swivel White Boucle 26"W x 30"D x 30"H	6	\$240.00	Т	\$1,440.00
8	Club & Lounge Chairs - Tangier - Channeled - Off White Velvet 26"W x 25"D x 37"H	2	\$180.00	Т	\$360.00
	Ottomans - Standard Pod Off White Velvet 18"RND x 17"H - Cover Color Upon Request	8	\$36.00	Т	\$288.00
	Bars - Straight Molding 16' Long Painted in Off White with Gold Details 32'W - 4 pieces to create 1 bar	1	\$1,440.00	Т	\$1,440.00
	Barback - Naples - Gold Leaf W/ Glass Shelves & Base 48"W x 14"L x 72"H - Base Color Upon Request	3	\$222.00	Т	\$666.00
	Sofas - Chicago - White Boucle 98"W x 45"D x 30"H	4	\$600.00	Т	\$2,400.00

Description		Qtty	Price		Total
	Coffee Tables - Round - Multicolor 48"round x19"h	4	\$300.00	Т	\$1,200.00
			Total Main Te	ents	\$11,220.00
Stage Area					
	Sofas - Madrid - Round - Off White Boucle 94"W x 36"D x 28"H	2	\$480.00	T	\$960.00
	Ottomans - Standard Pod in Off white 18"RND x 17"H - Cover Color Upon Request	6	\$36.00	T	\$216.00
	Straight Bar -With Molding 8- Painted in Off white with Gold details	1	\$960.00	Т	\$960.00
	Mix and Match Pillows Burgundy - Silver and Gold	10	\$30.00	Т	\$300.00
	Barback - Madrid - Gold W/ Glass Shelves & Base 40"W x 15"L x 8'H - Base Color Upon Request	2	\$222.00	Т	\$444.00
			Total Stage A	Total Stage Area	
Dessert Station					
	Pedestals - Round 48"x 40"h - Multicolor Painted Base in Off white with custom Hand painted Artwork 48"x 40"h - Color Change Upon Request	1	\$240.00	Т	\$240.00
	Pedestals - Round 30"x 38"h - Multicolor Painted Base in Off white with Custom Hand Painted Artwork 30" Diam x 38"H - Color Change Upon Request	2	\$222.00	Т	\$444.00
	Pedestals - Round 24"x 30"h - Multicolor Painted Base in Off white with Custom Hand Painted Artwork 24" Diam x 30"h - Color Change Upon Request	2	\$204.00	Т	\$408.00
	Pedestals - Round 24"x 42"h - Multicolor Painted Base in Off white with Custom Hand Painted Artwork 24"Diam x 42"h - Color Change Upon Request	2	\$222.00	Т	\$444.00
			Total Dessert Sta	tion	\$1,536.00
Services					
	DRIVE TO BAKERSFIELD AND INSTALL THURSDAY	8	\$650.00		\$5,200.00
	CONTINUE DRAPE INSTALLATION AND FURNITURE INSTALL	8	\$550.00		\$4,400.00
	Touch Up crew	6	\$475.00		\$2,850.00
	rodon op oren	Ū	Q+7 0.00		Ψ2,000.00

	211		
Description	Qtty	Price	Total
Transportation	3	\$750.00 T	\$2,250.00
Manager on Site	1	\$1,500.00	\$1,500.00
perdiems	7	\$256.00	\$1,792.00
HOTELS FINAL PRICE TILL BOOK	4	\$0.00	\$0.00
Artist to Paint Pedestals	1	\$1,500.00	\$1,500.00
Per diem for 2 days	2	\$0.00	\$0.00
Please make checks payable to Revelry, Inc.		Total Products:	\$76,572.00
	Total La	\$23,392.00 \$3,062.88 \$1,531.44 \$0.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	٧		
. iouoo iouu, tiio oontiuot uitu oigii ti			
Notes	Т		
		Discounts:	(\$0.00)
		Total:	\$104,558.32
	Payments:		(\$0.00)
		Balance:	\$104,558.32